
Base or Generic Argumentation Rubric
	
	 
	Claim
	Evidence
	Reasoning
	Rebuttal

	
	
	A statement or conclusion that answers the original question/problem.
	Data or information that supports the claim.  The data/information needs to be appropriate and sufficient.
	A justification that connects or shows the relationship between the claim and evidence.  May include larger conceptual ideas.
	Recognizes and describes alternative explanations, and provides counter evidence and reasoning for why the alternative explanation is not appropriate.
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	 Does not make a claim, or makes an inaccurate claim.
	Does not provide evidence, or only provides inappropriate evidence (Evidence that does not support claim).
	Does not provide reasoning, or only provides inappropriate reasoning.


	Does not recognize that alternative explanation exists and does not provide a rebuttal or makes an inaccurate rebuttal.
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	Makes an accurate but incomplete claim.


	Provides appropriate, but insufficient evidence to support claim.  May include some inappropriate evidence.
	Provides reasoning that connects the evidence to the claim, but provides an incomplete justification.
	Recognizes alternative explanations and provides appropriate but insufficient counter evidence and reasoning in making a rebuttal.

	
	
	Makes an accurate and complete claim.
	Provides appropriate and sufficient evidence to support claim.
	Provides reasoning that connects the evidence to the claim and provides a complete justification.  May include larger conceptual ideas.
	Recognizes alternative explanations and provides appropriate and sufficient counter evidence and reasoning when making rebuttals.


Specific Rubric: What has caused volcanoes to form at the Azores?
	 
	Claim
	Evidence
	Reasoning

	
	A statement or conclusion that answers the original question/problem.
	Data or information that supports the claim.  The data/information needs to be appropriate and sufficient.
	A justification that connects or shows the relationship between the claim and evidence.  May include larger conceptual ideas.

	0
	Does not make a claim, or makes an inaccurate claim like – “The Azores are a chain of volcanic islands.”  OR “The Azores were formed by a divergent boundary.”
	Does not provide evidence, or only provides inappropriate evidence or vague evidence, like “the map shows me it is true” or “The Azores are 900 miles west of Portugal.”
	Does not provide reasoning, or only provides inappropriate reasoning like “convergent boundaries are when two plates come together and one goes under the other.”
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	Makes an accurate and complete claim like – “The Azores were formed by a hotspot.”
	Provides 1 of the following 3 pieces of evidence:

· The islands are far from a plate boundary (e.g. Mid-Atlantic Ridge).
· The Eurasian Plate is moving eastward.
· Only the westernmost islands are currently volcanically active. 
	Provides 1 of the following 3 reasoning components: 

· Since the Azores are far from a plate boundary, they could not have been formed by a divergent boundary (i.e. seafloor spreading) or a convergent boundary (i.e. subduction). 
· The fact that only the western islands are active indicates that they are still over the hotspot, while the eastern islands have pushed past it because the Eurasian Plate is moving eastward.
· A hot spot is a location where magma/lava comes up to the earth’s surface. They do not move. 
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	Provides 2 of the following 3 pieces of evidence:

· The islands are far from a plate boundary (e.g. Mid-Atlantic Ridge).

· The Eurasian Plate is moving eastward.

· Only the westernmost islands are currently volcanically active.

	Provides 2 of the following 3 reasoning components: 

· Since the Azores are far from a plate boundary, they could not have been formed by a divergent boundary (i.e. seafloor spreading) or a convergent boundary (i.e. subduction). 
· The fact that only the western islands are active indicates that they are still over the hotspot, while the eastern islands have pushed past it because the Eurasian Plate is moving eastward.
· A hot spot is a location where magma/lava comes up to the earth’s surface. They do not move.
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	Provides 3 of the following 3 pieces of evidence:

· The islands are far from a plate boundary (e.g. Mid-Atlantic Ridge).

· The Eurasian Plate is moving eastward.

· Only the westernmost islands are currently volcanically active.


	Provides 3 of the following 3 reasoning components: 

· Since the Azores are far from a plate boundary, they could not have been formed by a divergent boundary (i.e. seafloor spreading) or a convergent boundary (i.e. subduction). 
· The fact that only the western islands are active indicates that they are still over the hotspot, while the eastern islands have pushed past it because the Eurasian Plate is moving eastward.
· A hot spot is a location where magma/lava comes up to the earth’s surface. They do not move.



Specific Rubric: How did geography affect the early settlements of Egypt, Kush, and Canaan?
	 
	Claim
	Evidence
	Reasoning

	
	A statement or conclusion that answers the original question/problem.
	Data or information that supports the claim.  The data/information needs to be appropriate and sufficient.
	A justification that connects or shows the relationship between the claim and evidence.  May include larger conceptual ideas.

	0
	Does not make a claim, or makes an inaccurate claim like – “Egypt, Kush and Canaan were settlements.”  OR “The geography did not influence the settlements.”
	Does not provide evidence, or only provides inappropriate evidence or vague evidence, like “the map shows the geography of each settlement” or “Egypt is surrounded by many physical features.”
	Does not provide reasoning or only provides inappropriate or vague reasoning like “People lived by water, because they liked water.”
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	Makes an accurate and complete claim like – “The geography of Egypt, Kush and Canaan affected the settlements in many ways.”
	Provides 1 of the following 4 pieces of evidence:

· Egypt and Kush were in the Nile River valley, which flooded yearly bringing rich and fertile soil.

· Egypt and Kush were both surrounded by deserts. 
· The topography of Canaan consisted of rolling hills around the Jordan River, which did not flood regularly. 

· Egypt, Kush and Canaan were all located near water (e.g. Nile River, Jordan River and Mediterranean sea).
	Provides 1 of the following 4 reasoning components: 

· Because Egypt and Kush had fertile soil, these early settlements relied primarily on farming as an occupation.
·  Because Egypt and Kush were surrounded by deserts they discouraged invading armies and created a natural defense.
· Because Canaan consisted of rolling hills and less fertile soil, this settlement relied on herding as an occupation. 
· Because all three settlements were located near water, this provided a valuable food source (e.g. fish) and freshwater is good for drinking. 
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	Provides 2 of the following 4 pieces of evidence:

· Egypt and Kush were in the Nile River valley, which flooded yearly bringing rich and fertile soil.

· Egypt and Kush were both surrounded by deserts. 

· The topography of Canaan consisted of rolling hills around the Jordan River, which did not flood regularly. 

· Egypt, Kush and Canaan were all located near water (e.g. Nile River, Jordan River and Mediterranean sea).
	Provides 2 of the following 4 reasoning components: 

· Because Egypt and Kush had fertile soil, these early settlements relied primarily on farming as an occupation.
·  Because Egypt and Kush were surrounded by deserts they discouraged invading armies and created a natural defense.
· Because Canaan consisted of rolling hills and less fertile soil, this settlement relied on herding as an occupation. 
· Because all three settlements were located near water, this provided a valuable food source (e.g. fish) and freshwater is good for drinking.
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	Provides 3 of the following 4 pieces of evidence:

· Egypt and Kush were in the Nile River valley, which flooded yearly bringing rich and fertile soil.

· Egypt and Kush were both surrounded by deserts. 

· The topography of Canaan consisted of rolling hills around the Jordan River, which did not flood regularly. 

· Egypt, Kush and Canaan were all located near water (e.g. Nile River, Jordan River and Mediterranean sea).
	Provides 3 of the following 4 reasoning components: 

· Because Egypt and Kush had fertile soil, these early settlements relied primarily on farming as an occupation.
·  Because Egypt and Kush were surrounded by deserts they discouraged invading armies and created a natural defense.
· Because Canaan consisted of rolling hills and less fertile soil, this settlement relied on herding as an occupation. 
· Because all three settlements were located near water, this provided a valuable food source (e.g. fish) and freshwater is good for drinking.


	
	
	Provides 4 of the following 4 pieces of evidence:

· Egypt and Kush were in the Nile River valley, which flooded yearly bringing rich and fertile soil.

· Egypt and Kush were both surrounded by deserts. 

· The topography of Canaan consisted of rolling hills around the Jordan River, which did not flood regularly. 

· Egypt, Kush and Canaan were all located near water (e.g. Nile River, Jordan River and Mediterranean sea).
	Provides 4 of the following 4 reasoning components: 

· Because Egypt and Kush had fertile soil, these early settlements relied primarily on farming as an occupation.
·  Because Egypt and Kush were surrounded by deserts they discouraged invading armies and created a natural defense.
· Because Canaan consisted of rolling hills and less fertile soil, this settlement relied on herding as an occupation. 
· Because all three settlements were located near water, this provided a valuable food source (e.g. fish) and freshwater is good for drinking.


